Subject: Re: Is LINUX the inheritor of the Earth?
Posted by Anonymous on Tue, 11 Dec 2018 10:48:58 GMT

View Forum Message <> Reply to Message

Originally posted by: AndyW
On 11/12/2018 03:30, J. Clarke wrote:

> Around here the installed cost of a 4KW array is about $15,000 and

> that does not include another $3000-5000 to take down several trees
> which would be necessary if it was to be effective.
>
>
>

| suspect | could make more off of that amount of money by investing
it in the right securities.

It is never going to be a one size fits all but if it works for you then

fine otherwise fine.

| keep getting people telling me that solar does not work despite the
fact that it works fine for me.

| have a fried who lives mostly off grid and has his own solar thermal
system, solar PV and wind generator and battery set up yet people will
patiently explain to him that solar and wind do not work despite the
fact that he has been off grid for about 4 years when a storm took out
his power line and he agreed with the electricity company to not bother
fixing it.

He also has log burners and a pelleted wood central heating system.

Andy
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